




1. sg(joe,Y) <- 
sg(ann,Yp),par(Y,Yp)

1. sg(joe,Y) <- 
sg(dave,Yp),par(Y,Yp)

2. sg(ann,Y) <-

sg(Xp,Yp),par(Y,Yp)
par(ann,Xp)

2. sg(dave,Y) <- 
par(dave,Xp)
sg(Xp,Yp),par(Y,Yp)

2. sg(ann,ann) <-

2. sg(dave,Y) <- sg(dave,Y)2. sg(ann,Y) <- sg(ann,Y)

2. sg(dave,dave) <-

1. sg(joe,joe) <- 1. sg(joe,Y) <- par(joe,Xp),sg(Xp,Yp),par(Y,Yp)

3. sg(joe,Y) <- par(Y,ann)

3. sg(joe,mary) <- 3. sg(joe,joe) <-

3. sg(joe,Y) <- par(Y,dave)

3. sg(joe,mary) <- 3. sg(joe,joe) <-

0. sg(joe,Y) <- sg(joe,Y)






